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1. IossicHUTEIBbHAA 3aAMUCKA

1.1. AxTyaabHOCTb IPOTPaMMBbI

JononuurenbHas obuiepa3BuBaromias nporpamma «lIpaktnueckuil Kypc aHIVIMMCKOIO s3bIKa
IUIL TIOATOTOBKM K chade MexayHaponHoro sk3amena [OEFL» (mamee — mporpamma) wmmeer
COIMATBHO-TIETATOTUYECKYIO0 HAIPABIEHHOCTh M PacCUYMTaHA Ha YAOBJIETBOPEHUE HUHIUBHUIYAIbHBIX
MOTpeOHOCTEH JTIO/IEH B S3BIKOBOM OOIICHUH.

B cBsa3um ¢ pacmimpeHneM MeXIYHApOJHBIX CBsi3ed BO BCEX O0O0JIACTAX UYETOBEUYECKOU
KUZHEACITEIIBHOCTH  (PKOHOMHYECKOM, TOJMTUYECKOM, COIMAIbHOW, KYJIBTYPHOM) pacTyiien
TEHJICHIIUEH, CBA3AHHOU C MpoIleccaMy TI00AIM3allid BO BCEM MUpE, SIBIAETCS CIPOC Ha oOyueHue
WHOCTPAHHBIM sI3bIKaM. AKTYaJIbHOCTb MIPOTPaMMbl COCTOUT B OTPAKEHUU COBPEMEHHBIX TPeOOBaHUMN
K 00y4eHUI0, MPAKTUUECKOMY BJIQJICHUIO WHOCTPAHHBIMU SI3bIKAMU JJI TIOCTYIUICHUSI B 3apyOeKHbIS
KOJUJIC/DKA U YHUBEPCHUTETHI, TPYJA0YCTPOMCTBA U DIMHUTPAIIUH.

[Temarornueckast 11e1€c000pa3HOCTh MPOTPAMMBI 3aKITIOYAETCS B COOTBETCTBUHU IMOCTABIICHHBIX B
Hel 1enei 1 3a1a4 TPEOOBAHMAM HKEJIAFOIINX MOTYIUTh HEOOXOIMMbIC HABBIKU BIIAJICHUS aHTJTUHCKUM
SI3BIKOM B TIpPEJIeiaX COOTBETCTBYIOMIETO YPOBHS I CJa4d MEXIyHapomaHoro sk3ameHa TOEFL.
[IporpaMmma mpexacraBiasieT coOON B3aMMOCBSI3aHHYIO CHCTEMY IIpoliecca OOy4YeHHsl M €ro
obecrieueHus, MOCTPOCHHYIO Ha OCHOBE ayTEHTUYHOTO COJICPKAHUSI.

HoBusHa mporpaMMbl COCTOMT BO BBEJACHMHM COBPEMEHHOM TEMaTUKM M JIEKCHKH,
ynoTpeOiasieMoil B TOBCEAHEBHOW pa3TOBOPHOM W TMUCHMEHHOW PEUM B AHTJIOS3BIYHBIX CTpPaHAX;
OOHOBJICHHBIX JUJAKTHYECKHX MaTepualax ¢ y4eTOM BO3MOKHOCTH MOJIb30BaHUS MHTEPAKTUBHBIMU
WHTEPHET-PECYPCAMU; YBEIIMUEHHOM KOJINUECTBE TBOPUYECKUX 3aJaAHUI.

JlononmuuTenpHas oOmepasBuBaromas nporpamma «lIpakTnueckuii Kypc aHTIMKWCKOTO SI3bIKA
JUTsl TIONTOTOBKHU K cAade MexayHapoaHoro sk3ameHa |OEFL» cocraBimeHa Ha OCHOBE Y4EOHHMKOB:
Barron’s, TOEFL IBT; Check Your English Vocabulary for TOEFL, 4" edition; Cambridge
Preparation for the TOEFL Test, 4" edition

1.2. llenp u 3a7a4m MPOTPaMMBbI

enn oOy4eHHs 1O AOTMOJIHHUTEIBHOW oOOIIepa3BuBaromei nporpamme «llpaktuueckuii Kypce
AHTTIUHCKOTO S3bIKA JJIi MOJATOTOBKM K cladye MexayHapoaHoro sk3amena | OEFL» - moctmkenue
CIIyIIaTeIsIMM KOMMYHUKAaTUBHONW KOMIIETEHLIMM B TMIPENeNax COOTBETCTBYIOLIETO YPOBHS [UIf
yCIIEUTHOM clauu MexayHapoaHoro sk3amena T OEFL.

3amaud  mporpaMMbl  — COBEPILCHCTBOBaTh HABBIKM ayJUPOBaHUS, YMEHHUS BBIICIATH
Heo0xo MMy UHGOPMAIUIO U3 TEKCTa; MPOBOJUTH pabOTy HaJ HaBBIKAMHU MPOCMOTPOBOTO UYTCHUS,
MPOBOJAUTH pabOTy HaJA HEKOTOPHIMH TPAaMMATHYECKMMH M JIGKCHUECKUMHU  SIBICHUSAMU;
COBEPIIIEHCTBOBATh HABBIKM MHUCHbMEHHOTO BBICKA3bIBAHMS: HAITMCAHUS ICCE, OMUCBHIBAHUS TPadUKOB,
TaOJIUL, PUCYHKOB.



1.3. VYcnoBus peannsanuu nporpaMmbl
JlarHasi mporpamMma npeaHa3HadeHa sl B3pocioi aynutopuu (16 et u crapimie) - I, paHee
M3yYaBIIMX aHTJIMHACKUI A3bIK HA ypoBHE Bbilie cpennero (Upper-Intermediate) u paccumrana Ha 50
aKaJIeMHUYECKUX YacoB.
dopma 00ydeHHS — OYHAS.
3ansaTus npoBojATcs 1-5 pa3 B Hedenmo mo 2-3 akaJeMHYECKUX Yaca B TIpylnmnax WId
WHAUBHIYAIbHO. [Ipy mocTymieHnn oOydarouiuecst MpOXOoIsIT TECTUPOBAHHE, MO HUTOTaM KOTOPOTO
MPOUCXOUT UX PACIIPENICIICHHUE TI0 TPYIIIIaM COOTBETCTBYIOLIETO YPOBHSI.
VY4eOHbIl TpoIecc CTPOUTCS HAa OCHOBE COBPEMEHHOH KOMMYHHKATHBHOW METOJUKH C
MCTIOJIb30BAHNEM ay[IHO-, BUICOTEXHHUKH, a TAK)KE KOMITBIOTEPHOM MOIICPIKKH.
1.4,  OxwunaeMmble pe3yabTaThl 00ydeHUs
B pesynprare OCBOEHHS TIPOrpaMMbl OOy4arolmIMecss TOJIydaT HEOOXOIUMbIE HaBBIKH
ayJMpOBaHHUA C yMEHHEM BBIJCIATh HEOOXOIMMYI0 HWH(POpPMAIMI0O M3 TEKCTa; IOJIydaT HaBBIKK
MIPOCMOTPOBOTO YTEHHSI; YCOBEPIICHCTBYIOT HABBIKM INHCHMEHHOTO BBICKAa3bIBAaHUS ISl HAITMCAHUS
acce, ONMMcaHus TabJwIl, Tpa@uKOB, PUCYHKOB; HAydaTCsl BECTH AMAJOT U PACHIMPAT CBOM 3HAHUS 110
rpamMmaruke, opMaM CI0BOOOpPA30BaHMs, TTOTyYaT MPEACTABICHHUS O PA3IMYHBIX CTHIISIX MTUCHMEHHOM
u yctHOW peun. [lo OKOHYAaHWMM Kypca CIyIIaTeNd TPUOOPETYT TBEPAYID OCHOBY JUISI CHAadd
MeXTyHapoaHoTo dKk3amena TOEFL.



2. IIporpamma «IIpakTHuyecKkuii Kypc aHIJIMiiCKOI0 SI3bIKA /I MOATOTOBKH K cadye
MeKIyHapoaHoro dk3amena TOEFL»

2.1 Y4yeOHO-TEeMATHYECKHMH IJIAH

KosuyecTBo 4yacos,
Ne HaumeHoBaHue TemM Bceero B TOM YHCJIe
®opMbI KOHTPOJIS
n/n NMPOrpaMmblI Ak.4. | Teopus | [IpakTHKa
AK.4. AK.4.
1 Oomienue. 2 1 1 KonTtponsHas pabota
IToBcetHEBHAS KU3HB.
2 Cewmbs u netu. Jlpy3bsi. 2 1 1 KonTpomabHas paborta
Cocenn.
3 Pabota, kapbepa, 2 1 1 KonTtpomnrsHas pabota
po(roAroToBKa.
[TyremectBus. )Kuzun B 2 1 1
4 00JIBIIIOM TOPOJIE U 32 IIpome:kyTouHoe
TOPOJIOM. TeCTHPOBaHUE B
Murparusi. ¢opmate TOEFL
5 JloctonpuMedaTrenbHOCTH 2 1 1 KonTpomnbhas pabora
ropoja.
[Ipob6ema okpyKarome 2 1 1 KontponpHas padota
6 | cpensl. Jlrogu u
*KnBOTHbIE. Knmumar.
Menununa. ['eHHas 2 1 1 IIpomexyTouHoe
7 | MHXKeHepus. TeCTUPOBaHUE B
[Tcuxomnorus. dbopmare
TOEFL
8 Cropr. 2 1 1 KontponbHas padota
9 CpencTtBa MaccoBoM 2 1 1 KontpospHas pabota
nH(popMaIuu.
10 buonorudeckue yacel 2 1 1 KontponbHas padota
Ooprasusma.
Yucna. udper. Jlatsr. 2 1 1 IIpomexyTouHoe
11 | Jlenbru. TeCTUPOBaHHE B
dpopmare TOEFL
12 Ena (monesnas u 2 1 1 KontponbHas padota
BpenHas). Jluera.
13 Tpancmopr. 2 1 1 KonTtponbHas pabora
14 Ob6pa3oBanue. N3yuenue 2 1 1 KonTtponsHas pabota
AHTITUHCKOTO SI3bIKA.
15 Hayxa u TexHonorum. 2 1 1 KonTtponsHas pabota
Kommnslorep.
16 | 3ammra )KHBOTHBIX. 2 1 1 IIpomexyTouHoe




TeCTUPOBaHUE B
¢opmate TOEFL

17 ApxuTeKkTypa. 2 1 1 Konrtponsnas padora
[IpombIIIEHHOCTH U 2 1 1 Konrtponbhas padota
18 | cenmbckoe XO3sHCTBO
Texnuueckue 2 1 1 IIpomexyTouHoe
19 | u3oOpereHwms. TeCTUPOBaHUE B
¢opmate TOEFL
20 [Tpo6rembr 2 1 1 KontponbHas padota
0€301aCHOCTH.
21 Onucanue MexaHu3ma u 2 1 1 Kontposbhas padota
KapThl.
YTunusamus. 2 1 1 IIpomexyTouHoe
22 TeCTHPOBaHHE B
¢opmate TOEFL
23 ['moGanpHOE MOTETIICHHE. 2 1 1 KontpomnpHas padota
24 My3sika. Teatp. Kuno. 2 1 1 KonTponshas pabora
o5 Hrorosoe 3ansatne 2 1 1 HUroroswblii TecT B
dbopmatre TOEFL
Hroro 50 25 25




2.2 KanennapHubiii yueoHblii rpagpuk nporpammsl «IIpakTudeckuii kKype
AHIJIMICKOIO0 A3bIKA /ISl OATOTOBKH K CAa4e MEeKIYHAPOAHOI0 IK3aMEHAa
TOEFL»

Pexxum 3ansTHIA 2 pa3za B HEJEIIO 10 2 yaca

Ne HaumeHoBaHnue Tem Obmee Meciupt
KOJIMYECTBO 6|7
n/n NPOrpaMmsblI 112|345
4acoB
1 Oomienue, IloBcegneBHas 9 2
KU3Hb
2 | Cembs u getu. [Apy3ps. 2 2
3 | Pabora, kapbepa 2 2
4 [IyremectBus. )KusHb B 9 2
OOJILIIIOM TOPOJIE
5 JloctonpuMedaTrenbHOCTH 9 2
ropoja
6 [Tpobrema okpyKarome 9 2
cpeabl
7 Menunuaa. ['egnas 5 2
WH)XCHEPHS
8 | Cmopt 2 2
9 |CMHU 2 2
10 | buonoruyeckue yachl 2 2
11 | Yucna. [Hudpser. JdaTer 2 2
Ena (monesnas u 2
12 2
BpenHas). Jluera
13 | Tpancnopt 2 2
14 O6pa3?BaHHe. Nzydyenune 5 2
AHTJIMICKOTO SI3bIKA
15 | Hayka u Texnosoruu 2 2
16 | 3amura »KMBOTHBIX 2 2
17 | Apxurekrypa 2 2
18 HpOMLIHIJ'IGHH?CTb u 9 2
CEIIbCKOE XO3SIHCTBO
19 Texaudeckue 2 2
n300peTeHus
20 [Tpo6nemsl 2 2
0€3011aCHOCTH
21 Onucanune MexaHu3Ma u 2 2
KapThI
22 | Yrunusanus 2 2
23 | I'mobGanpHOE OTEIUJICHHE 2 2
24 | My3bika. Teatp. Kuno. 2 2




| 25 | Htorosoe 3ansTue

2.3

HUroro: 50 akageMu4ecKnxX 4acoB

Coaeprxanue nporpaMmsl

((HpaKTquCKI/Iﬁ Kypc¢ AHTJIMHCKOro A3bIKAa AJIs HOATOTOBKH K MEXKIAYHAPOAHOMY 3K3aMEHY

TOEFL»
Nen/m | HaummeHoBaHHe TeMbl Coaep:kaHue TeMbl

1 Oobuienue. [loBcenneBnas | [loBTopeHue cucreMsl BpeMeH B aKTUBHOM U [TACCUBHOM
KU3Hb 3anorax. [IpocimymmBanue A1aaoros ¢ BbIACICHUEM

HeoOxoaumoit nadopmanuu. IlpaBuna Hanucanus scce.
CrnoBa-CBSI3KH.

2 Cembs u getu. [py3bs. UreHue: npoCMOTPOBOE YTEHUE, KPATKHAE OTBETHI, TIOUCK

Cocemu. [loxuible Mo | KIHOYEBBIX CIOBOCOYETAHNN. ['0OBOpeHUE: MIpeACcTaBIeHHE,
MOHOJIOT, HHTE€PBbI0. M IoMaTnyeckie BoIpakeHuUsI.

3 Pabota, kapbepa, DopMUPOBaHUE YMEHUS COCTABIIATH TEKCT OMUCATEIBLHOTO
npogeccuoHanbHas Xapakrepa 1o Teme «JIM4HOCTE». AyANpOBaHUE: 3alI0JHEHNUE
MIOATOTOBKA TaOJIMIIbI, MHOYKECTBEHHBIH BBIOOP B OTBETAX HA BOMPOCHI.

[IpocMmoTpoBo€ uTeHue. ['oBopeHune: BRIpaKEHUE MHEHUS,
apryMeHTanusl.

4 [TyremectBus. )Ku3nb B OTtpaboTka HOBOMW JIEKCUKH B MIPOIIECCE TOBOPCHHSI,
00JIBIIIOM TOPOJIE U 3a apryMmeHranus, npeanosioxkenue. [Incemo: scce «3a» u
ropoxom. Murpanus «IIPOTHB.

Pabota B hopmaTte sx3ameHa.

5 HocTtonpumeyarenbHocTd | OTpaboTKa JIEKCUKH 110 TEME B MPOLIECCE ayJUPOBAHMSL.

ropoja Wnentuduuuposanue tem auckyccuii. OtpaboTka
BOCIPHATHS JETATU3MPOBAHHON HHPOPMALIUH.

6 IIpo6nema okpyxatomeir | OTpaboTKa JIEKCHYECKOTO MaTepuana o teme. Pazsurtue
cpensl. JIrogu n HaBBIKOB aKaJleMU4eckoro yteHus. OTpaboTka TEXHUKU
*uBoTHbIE. [Torona u IIPOCMOTPOBOTO uTeHUs. ['0OBOpeHHE: TPEHUPOBKA YMEHUS
KJIUMaT. BBIPAYKaTh CBOE MHEHHUE.

7 MenuuuHza. I'ennas OcBoeHue JEKCUKHU 10 TEME B IIPOLECCE ayAUPOBaHMs,
WMH)KEHEPHUS. TICUXOJIOTUsl | YTE€HUs, FTOBOpPEeHUsl. MHOXKECTBEHHBIN BbIOOD,

KJ1accu(UKaIys OTBETOB, CHHXPOHHOE 3aITMChIBAaHHE.
Pabora B popmare sK3aMeHa.

8 Cropr VYcTHas ¥ NMCbMEHHAs IPAKTHKA B ONMCAHUU BICYATICHUH,
cUMIaTHil ¥ npeanoureHuil. OnyucaHue OTpULIATEIbHOIO
ombiTa. AyaupoBanue. PaboTta HaJy MPOU3HOIIEHUEM.
Hanucanue scce.

9 CpencrBa MaccoBoOM Nzyuenue popm cnoBooOpazoBaHus. AKTUBHU3ALNS JIEKCUKU

nHpOpMaluu.

no teme. Hanncanue scce. AyanpoBanue: oTpaboTka




Tenesugenue.

TCXHUKH BCPOATHOCTHOI'O IIPOTHO3UPOBAHUA, OIIPEACIICHUC
TJIAaBHOT'O M BTOPOCTCIICHHOTIO.

10 buosornueckue yacsl Bsenenue nekcuku 1o reMe. Pa3Butre HaBBIKOB yMEHUs
opraHusma. cucTeMaTH3upoBaTh nHpopmanuio. OTpaboTKa HaBBIKOB
HaIMCaHWsI MHTEIPUPOBAHHOTO 3CCE, UHTETPUPOBAHUE
yacTed Tekcra. POpMUPOBAHUE YMEHUS JEJIaTh BBIBOI.
11 UYucna. [Hudpsr. JaTsr. [ToBTopenne w oTpaboTka HamucaHus UUQpP, YUCEI,
Henbru Tesie()OHHBIX HOMEPOB, AT, UMEH COOCTBEHHBIX.
TpeHnpoBka yMeHHUsl pacliO3HABaTh YMCIIUTEJIbHBIE HA CIIyX.
[IpakTuka B HCII0JIb30BAHUU CJI0’KHO-COCTaBHBIX
CYLIECTBUTEIIbHBIX.
Pabora B popmare sk3aMeHa.
12 Ena (monesnas u BpinonHeHne  JIGKCMYECKUX  YNPAKHEHUW B MpoLEcce
BpenHas). Jluera ayJupoBaHMsl, Kilaccu(uKalMs OTBETOB, CUTHAJIbHBIE CIIOBA.
Hamnmcanue scce.
I'oBopoenue.
13 Tpaucnopr OtpaboTka JIEKCUKU B MpoIiecce ayAUpOBAHUS: 3allOJHEHHE
TaOMUIBl, CUTHAJbHBIE CJIOBa M  CJIOBOCOYECTaHUS.
Hanucanue scce.
14 Oo6pazoBanue. U3yuenne | OOcyxaeHHEe Ha TeMbl Ha 0a3e MaTepuajioB Uil YTCHUS M
AHTJIMICKOTO S3bIKA aynuosanuced. Q@OpMHUpPOBAaHHME  HABBIKOB  BBIPAKECHMS
COTJIaCHs U HECOTJIACHs.
Urenue: BU3yalnM3alMs TEKCTa, aHAJIM3 3HAYEHUS CIIOB,
nepedpazupoBaHue.
Hanucanue 3cce.
15 Hayka u texnonorumu. TpeHupoBKa HaBBIKOB YTeHHS U OoOMeHa MH(pOpMalMeld Ha

Kommnbrotep.
Texuunueckue
n300peTeHus

6aze TEKCTOB Hay4YHO-TIOIYJIIPHOTO XapakTepa.
[IpocnymuBanue u oOOCyXJEHHE TEKCTOB HAaydyHOH U
TEXHUYECKOH HalpaBIeHHOCTH.

[IpesenTanus matepuana.




16 3amura XKUBOTHBIX OtpaboTka HOBOW JIEKCMKM B IIpollecce ayIupOBaHMUs,
3aroJIHEeHHE TaOIHIIbI, KJIacCu(UKAIUS OTBETOB.
[Iucemo: 0TpaboTKa HAaBBIKOB apryMEHTUPOBAHUs
BBIIBUHYTHIX UJICH MIPU HATICAHUH ICCE.
Pabora B popmare sk3ameHa.
17 ApxurtekTypa OcBoeHue HOBOW JIEKCMKM B IIpOLIECCE ayIupOBaHUs U
TOBOPEHMUSL.
Urenue: omnpeneneHue «OTBIEKawolleH» HH(POpMalNH,
o3arjlaBjauBaHue a03aleB TEKCTa.
18 [IpompbIlIIIEHHOCTH U OTtpaboTka JIEKCUKH JAJs OMHCAHMsI TEHICHIMH TrpaduKoB,
CeJIbCKOE XO035ICTBO TabIUI, CXEM.
l'oBopenue: onucanue u 00bSICHEHNE, PACCYKIEHUE TIO TEME.
AynupoBaHHe: CHHXPOHHOE 3allChIBAHUE YUCIUTEIbHbBIX.
19 Texanueckue OTtpaboTka YMEHUS MIPOCMOTPOBOTO, MMOMCKOBOTO,
n300peTeHus 03HAKOMUTEJILHOTO U U3YYaIOLIEr0 YTCHHUS.
["'oBOopeHuMeE: BbIpa)keHUE MHEHUSI, JUCKYCCHUS.
TpenupoBka yMeHHUs BbIpaXXaThb CBOE€ MHEHUE.
Pabota B popmarte sx3ameHa.
20 [Ipo6nemsr 6e3onacHocT | OTpaboTKa  HOBOM  JIGKCMKM B TPOIECCE€  YTEHUS,

ayJAupoOBaHUs, TOBOPCHUA.

Brimonnenue JICKCHUYCCKHUX ynpaxcHeHI/Iﬁ. CI/IHOHI/IMLI,
AHTOHHMMBEI.

ITuceMo: acce «3a» u «(IIPOTHUB».




21

Omucanne MeEXaHu3Ma 1
KapThl

OTtpaboTKa SI3LIKOBBIX KIIHIIIE.

dopMHUpOBaHHE  YMEHHS  «UYHTaTh»  PHCYHOK, KapTy
MECTHOCTH WJIH 3/IaHUS.

[Tucemo: onucanue pabOTHl MEXaHU3MA.

22 Yrunuzanus UteHue ¢ BBIMOJTHEHUEM JIEKCUUYECKHUX 3a/JIaHUi 10 TI0100py
CUHOHHMMOB U3 TEKCTa.
OtpaboTka HOBOM JIEKCMKM B TIpOLECCE ayIUPOBAHHUS:
MHOECTBEHHBIN BBIOOD.
Pabora B popmare sx3ameHa.

23 ['moGanbHOE NOTEMICHHE. | AymupoBaHue: 3aJaHus 1o Tumy — Yes| no| not given,

Oxkpyxaromiast cpena pa3MeTKa quarpaMMal.

[Incemo: HanmcaHue scce.
I'oBopenue: aprymeHnTanus.

24 Mysbika. Teatp. Kuno. BpinonHeHne  JIEKCMYECKMX ~ 3aJaHUil B Mpoliecce
ayIupoBaHusl, 0OpPMIICHHUE 3aMETOK.
OtpaboTka HaBBIKOB BBHITIOJHEHUS 3aJaHUN 10 YTCHUIO,
ayIMpoBaHuIo, roBopenuto B popmare TOEFL.

25 Hrorosoe 3anstue HroroBoe tectupoBanue B opmare TOEFL.




3. (I)Oprl aTTeCTallui U OLCHOYHLIC CPEACTBA

[IpoMexyTOUHBI KOHTPOJIb B (pOPME MPOMEKYTOYHOTO TECTUPOBAHHUS M KOHTPOJBHBIX
paboT MPOBOAUTCS MO OKOHYAHUHM KAXKJIOW TeMbl. [IpOMEXKYTOUHBII KOHTPOJIb CIIY)KUT IS
ONpEJENeHUs] PEe3yJbTaTOB MU3y4yeHUs OOydyaloU[MMUCA YacTU NpOrpaMMbl € MOMEHTa
IIPOBEJICHUS MPEABIAYILEr0 MPOMEKYTOUYHOTO KOHTPOJISI U YPOBHS OBJIAJICHUS 00ydarolUMUCS
OCHOBHBIMM BHJIaMHU PEYEBOM JIEATEIBHOCTH (BOCHPUATUEM Ha CIyX, TOBOPEHHMEM, YTEHHUEM U
MUCbMOM).

WToroBelii KOHTPOJIb MPOBOJUTCS 110 OKOHYaHUM U3YYEHUS [IPOrPAMMBI.

YcrenrHpIM MpoX0kKACHUEM ITPOMEKYTOUYHOTO U (PMHATIBHOTO TECTUPOBAHHUS CUYHTAIOTCS HE
MeHee 65% TpaBIWIHLHO BBHITOJTHEHHBIX 3aJJaHUH.



3.1 OueHoyHble TpUMEPBI TPOMEKYTOUYHOTO U UTOTOBOTO TECTUPOBAHUS.
IMPOMEXYTOYHBIN TECT
Reading Mini-test 3
Check your progress in understanding and recognizing restatements (Exercises R9-R14) by
completing the following Mini-test. This Mini-test uses question types used in the Reading
section of the TOEFL iBT test.

Select the correct answer.

Questions 1-5

Every year about two million people visit Mount Rushmore, where the faces of four U.S.
presidents were carved in granite by the sculptor Gutzon Borglum and his son. The creation of
the Rushmore monument took 14 years — from 1927 to 1941 — and nearly a million dollars.
These were times when money was difficult to come by, and many people were jobless. To help
him with this sculpture, Borglum hired laid-off workers from the closed-down mines in the Black
Hills area of South Dakota. He taught these men to dynamite, drill, carve, and finish the granite
as they were hanging in midair in his specially devised chairs, which had many safety features.

Borglum used dynamite to remove 90 percent of the 450.000 tons of rock from the
mountain quickly and relatively inexpensively. His workmen became so skilled that without
causing damage, they could blast to within four inches of the finished surface and grade the
contours of the facial features. Borglum was so proud of the fact that no workers were killed or
seriously injured during the years of blasting and carving the granite. Considering the workers
regularly used dynamite and heavy equipment, this was a remarkable feat.

During the carving, many changes in the original design had to be made to keep the carved
heads free of large fissures that were uncovered. However, not all the cracks could be avoided,
so Borglum concocted a mixture of granite dust, white lead, and linseed oil to fill them.

Every winter, water from melting snow gets into the fissures and expands as it freezes,
making the fissures bigger. Consequently, every autumn maintenance work is done to refill the
cracks. To preserve this national monument for future generations, the repairers swing out in
space over a 500-foot drop and fix the monument with the same mixture that Borglum used.

1. The author of the passage indicates that the men Borglum hired were
a) trained sculptors
b) laid-off stone carvers
c) Black Hills volunteers
d) unemployed miners

2. According to the passage, what achievement did Borglum pride himself on?
a) The four presidential faces in granite that he had sculpted
b) The removal of 90 percent of the 450,000 tons of rock quickly and at a relatively low
cost



c) His safety record of no deaths or serious injuries during the years of work with heavy
equipment and dynamite

d) His skillful training of the labor force that enabled blasts of dynamite to be within
inches of the contour lines of the faces

. Which of the sentences below best expresses the essential information in the highlighted
sentence in the passage? Incorrect choices change the meaning in important ways or leave out
essential information.

a) Since cracks could not be avoided, Borglum tried various materials to cover them.

b) In order to fill the unavoidable cracks, Borglum invented a mixture for filling them.

c) A mixture was uncovered by Borglum during the changes in design needed to avoid
cracks.

d) Because cracks could not be avoided, Borglum bought a mixture of granite dust, white
lead, and linseed oil.

. According to the passage, today Mount Rushmore needs to be
a) protected from air pollution
b) polished for tourists
c) restored during the winter
d) repaired periodically

. The passage discusses all of the following aspects of the creation of the Mount Rushmore
carvings EXCEPT
a) where the people who worked on Mount Rushmore came from

b) why Borglum carved the heads of four presidents
¢) how Borglum dealt with fissures that could not be avoided
d) when repairs to this national monument are made

Questions 6-10

Teotihuacan is the largest and most impressive urban archaeological site of ancient
America, covering an area of roughly 20 square kilometers. The city was at one time thought to
be the religious center of the Toltecs but is now believed to be a creation of an earlier
civilization about whose origins little is known. The earliest artifacts from Teotihuacan date
from over 2,000 years ago, but the period of greatest expansion dates from 200 CE to 500 CE.
At its peak the city is estimated to have had a population of up to 200,000 inhabitants, with
residential areas extending throughout the built-up area. Judging by regionally dispersed finds
of the image of the rain god Tlaloc, of “thin orange wear’ pottery and of the characteristic
architectural forms, the influence of Teotihuacan was widespread. It is not clear what caused
the city’s decline and eventual abandonment, but the evidence points to overpopulation, a
depletion of resources, and the possible sacking by adversaries.

The primary axis of the city was the Avenue of the Dead, which extends for 2.5 kilometers
through the center of the urban area, starting in the north at the Moon Plaza and continuing
beyond the Great Compound complexes to the south. The avenue divided Teotihuacan into two
sections with apartment compounds arranged on either side, often symmetrically, suggesting a
highly planned layout from the earliest phases of construction.




The vast Pyramid of the Sun, located in the middle of the central zone, is the tallest and
most dominant structure of Teotihuacan, with a height of 65 meters and a base covering
approximately 10 acres. At one time the edifice was surmounted by a temple. A cave located
underneath the pyramid and possibly used for ritual activities hints at its religious importance.
The Pyramids of the Moon and Feathered Serpent are other notable ceremonial sites nearby.

A particular feature of the architecture of many of the platforms at this site is the series of
sloping apron walls, known as taluds, interspersed with vertical panels — tableros — producing a
step-like appearance. Originally all such structures would have been covered with a layer of
stucco and then painted, often with pictures of animals and mythological creatures.

()]

. According to the passage, the dispersed finds from Teotihuacan indicate that
a) The city is over 2,000 years old
b) The city had an estimated population of as many as 200,000 inhabitants
c) The residential areas extended throughout the urbanized area
d) The city greatly influenced the surroundings area

7. According to the passage, which of the following statements about the decline of Teotihuacan
is known to be true?
a) The people migrated to another city.
b) The population of the city starved.
c) The city was invaded by neighbors.
d) The cause of the decline is uncertain.

8. According to the passage, the symmetrical layout around the Avenue of the Dead
a) divided the city into two sections, one of which had apartment compounds for the living
b) started at the Moon Plaza, continued past the Great Compound complexes, and extended
as far as the center of the urban area
c¢) included a primary axis of the city
d) indicated that city layout was planned before building began

9. Which of the sentences below best expresses the essential information in the highlighted
sentence in the passage? Incorrect choices change the meaning in important ways or leave out
essential information.

a) A feature of the pyramidal architecture is the many platforms that make up the steps.

b) The sloping walls of the pyramid have occasional vertical panels, which gives the
appearance of steps.

c) The architectural features known as taluds and tableros are a particular feature of the
many pyramidal platforms.

10. All of the following are mentioned as having been found in the Teotihuacan area EXCEPT
a) market streets
b) religious artifacts
c) ceremonial structures
d) residential districts



General Vocabulary

Similar meanings: Verbs 1

Look at the words and phrases in bold in the following sentences, and choose a word from the

boxes that has the same or a similar meaning in the same context. Write these words after each

sentence (the first one has been done for you), then use them to complete the crossword on page 56.

You do not need to change any of the word forms.

Across—

allow alter answer assert assume attain baffle convey derive detect direet enrich exceed

evolve refine relate remove resist reveal settle submit verify

11.
12.

13.
14.
15.
16.
19.

21.

His job is mainly to control the activities of everyone in the company with a view to making

He was asked to disclose government secrets in exchange for money. ...........................
If you want people to take you seriously, you should state firmly your reasons for change.

Antibodies help our bodies to fight infection. ...............c.cooiiii i
Several attempts were made t0 ImProve the SYStem. ...........oovveviiriiiiiiriiiiiieiinienenanans
Computer software will continue to develop in response to users’ needs. ........................
They asked us to give our thanks and best wishes to the chairman. ................................

The two countries have often tried to resolve their differences, but to little effect.




25. A revolutionary new scientific method may soon help to alter people’s physical appearance
without the need for SUrgery. ..........cooeviiiiiiiiiiiieene,

27. His explanation seemed to confuse most people. .........ccoevviiiiiiiiiiiiiiiiieienn,

29. Would you reply to his question as briefly as possible. ....................oooiiiinal.

32. The device is able to confirm whether a banknote is genuine or a forgery by analyzing the
paper and print quality. ..............ocooii

33. Some plants, such as beans, benefit the soil in which they are planted.

35. The rules are designed to eliminate obstacles that may discourage investors.

Look at the words and phrases in bold in the following sentences and write a word that has the
same or similar meaning.

A strong and successful economy. ...,

BasSiC facilities. .......oviniiniitii e

A small charge for ServiCes. ..........ocooviiiiiiiiii e,

Traditional medicine. .............ccoiiiiiiiii

An inquisitive student. ...

Specialist knowledge. ...........ooiiiiiiii

Anisolated village. ..........c.ooiiriiiiiii

© 0o N o g B~ w DN E

A rdiculous idea. ......o.oiieii
10. Suitable computer software. ..............coiiiiiiiiii
11. A valid reason for doing something. ...............oooiiiiiiiiiiiiii,
12. Strict economic CONtIOlS. ... ...o.viueiie i
13. Acalm, peaceful sea. ...........coooiiiiiiiii
14. A small margin of opportunity. ...
15. A SECIEt OPEIatioN. .....ouerieit ettt
16. An insignificant amount of MONEY. ............coviiiiiiiiiiiiiiie,
17. Dangerous chemicals. ...........oouiiiiiiiiii e
18. An exhibition of Modern art. ...........cocoiiiiiiiiii
19. Lasting appeal. .....ouviriei i

20. Extremely unusual CIrCUMSLANCES. .........oviriiiiitit e eeaeas



21. Very strange or unusual behavior. ...

22. A punctual start to @ MEetiNg. .......ooviniiiiei e

23. Old-fashioned 1deas. ............ouiuiuiuinii e

24. A potential or likely candidate for job. ...

25. A thorough investigation. ............coeiuiiriitit i

26. ENOUgh Information. ...........ccouiiiiiiiitii e

27. Slow but steady ProgreSs. .....ouviniiei i

28. A sudden, Sharp riSe I PIiCES. ....viurintiriertit et ettt ettt e eneanss

29. A flourishing commUNILY. .........c.oiiriitiii e

30. Difficult and detailed inStructions. ..............ooiiriieiiiiiiiiii e,

31, A Creative dirBCTON. ...ttt

32 APOWEITUL ArUg. . .vie

33. Extreme measures to prevent or achieve something. ......................oooiin.l

34, A superficial PErSON. ......o.ii i

35. An unpredictable sequence of events. ...........c.oooeiiiiiiiiiii

36. Rich agricultural SOil. ..ot

BT A TBVEL SUITACE. .ottt e

38. Very important information (2 possible Words). ............ccoooiiiiiiiiiiiii
39. A diVerse program Of EVENLS. ........o.iitiniiiitiie et
40. Essential raw materials (2 possible Words). ...........oiiiiiiiiiiii e
A1, POISONMOUS ZASES. ..uviutnt ettt et ettt et et e e et et et e e et et et et et et et ettt e e
42. Clear and direCt COMMENLS. .........o.iuininiiii e e
43, LIMIted Natural TESOUICES. ... .uuririt ettt ettt et et et et et e e et e e aeeenns
44, EXTENSIVE UNEMPIOYIMENL. . ..\uttint ittt ettt et et e et e e e e e e e eaeaeaaes
45. A determined STUAENT. ... ...t
46. ROUGN material. ...



General Vocabulary
Changes

Exercise 1

Look at these sentences and decide if the statement which follows each one is true (T) or false (F).
Use the words and phrases in bold to help you decide.

The population of the country has trebled in the last 25 years.

There has been a dramatic increase in the number of people living in the country. T/F

1.

10.

11

Unemployment has dropped by about 2% every year for the last six years.

There has been a steady decrease in the number of people out of work. T/F

In the last six months the government has improved the national road system.

There has been a deterioration in the national road system. T/F

The number of exam passes achieved by the school's pupils has risen by almost 50%.

There has been a decline in the number of exam passes. T/F

American travelers abroad have discovered that they can buy more foreign currency with their
dollar.

There has been a weakening of the dollar. T/F

It is now much easier to visit the country than it was a few years ago.

There has been a tightening up of border controls. T/F

We're increasing our stocks of coal before the winter begins.

We're running down our stocks of coal. T/F

Food prices have gone up by about 4% every year since 2004.

There has been a constant rise in the price of food since 2004. T/F

The pass rate for the exam was 3% lower this year than it was last year.

There has been a sharp fall in the pass rate. T/F

The Southern Alliance is going to reduce the number of conventional weapons in their armed
forces.

The Southern Alliance is going to build up the number of conventional weapons in their armed
forces. T/F

Deflation has affected industries around the country.

There has been a growth in industrial activity. T/F

. The rules regarding smoking in public places are much stricter now than they were before.

There has been a relaxation of the rules regarding smoking in public places. T/F



12. Last year, 12% of the population worked in industry and 10% worked in agriculture. This year,
14% of the population work in industry and 8% work in agriculture.
There has been a narrowing of the gap between those working in different sectors of economy.
T/F
13. Some management roles in the company will not exist this time next year.
Some management roles are going to be phased out. T/F
14. These days, more people shop at large supermarkets than in small local stores.
There has been an upward trend in the number of people shopping in small local stores. T/F
15. Her English is clearly better now than it was when she first arrived.
There has been marked progress in her English. T/F
16. People live in better houses, drive nicer cars, and eat better-quality food than they did 20 years
ago.
There has been a general improvement in the standard of living in the last 20 years. T/F
17. Our company has opened several new offices in the last five years.
Our company has witnessed considerable expansion in the last five years. T/F
18. The government will spend less on the healthcare services next year.
There are going to be cuts in healthcare spending next year. T/F
19. Americans nowadays want to see more of the world.

Americans nowadays want to narrow the horizons. T/F



HUTOIOBBIN TECT

Questions 1-12
Two atomic clocks

The nucleus of a radioactive atom disintegrates spontaneously and forms an atom of a different element while
emitting radiation in the process. The original atom is called the parent isotope* and its stable product is called
the daughter or progeny isotope. For example, rubidium-87 decays by emitting an electron from its nucleus to
form a stable daughter called strontium-87. Because the rate of nuclear decay is constant regardless of
temperature and pressure conditions, radioactive decay provides a dependable way of keeping time.
Radioactive isotopes alter from one type of atom to another at a fixed rate from the moment they are created
anywhere in the universe. Since we can calculate the decay rate and also count the number of newly formed
progeny atoms and the remaining parent atoms, we can use the ratio as a kind of clock to measure the age of
minerals and other materials.

The rate at which a radioactive element decays is known as the half-life of the element. This is the time
necessary for one-half of the original number of radioactive atoms in a sample to decay into a daughter
product. After two half-lives, the number of atoms remaining after the first half-life will have decayed by half
again. Thus, the number of remaining parent atom is reduced geometrically over time. With some elements,
the half-life is very long. Rubidium-87, for example, has a half-life that has been estimated at nearly 48.8 billion
years, much longer than the current estimated age of the universe. With other elements, this period can be as
short as a few days or even minutes. If we know the half-life of a decaying element, it is possible to calculate
the ratio of parent to stable progeny that will remain after any given period of time.

Geologists use a sensitive instrument called a mass spectrometer to detect tiny quantities of the isotopes of
the parent and progeny atoms. By measuring the ratio of these, they can calculate the age of the rock in which
the rubidium originally crystallized. Because the number of progeny is growing as the parent is decaying and
this is occurring at a constant rate, after one-half life the ratio is one parent to one progeny. After two half-
lives the ratio is 1 to 3.

Rubidium-87 has often been used to date rocks since it is a widespread element. Various elements
including rubidium are incorporated into minerals as they crystallize from magma or metamorphic rock. During
this process the rubidium is separated from any strontium progeny that existed before the rock formed and so
we know that the measurable alteration from parent to progeny can be dated from this point. As the
radioactive decay of rubidium -87 begins, new progeny atoms of strontium-87 start to accumulate in the
rock. In the dating of rocks using these elements, it is important that the rock sample has not been
altered subsequent to its formation by other geologic processes or contamination of any kind. Rocks as
old as 4.6 billion years can be dated with some degree of reliability using this method.

Another radioactive element useful for dating is carbon -14, which decays into nitrogen-14.
With a half-life of 5,730 years, carbon-14 decays much more rapidly than rubidium-87 and so is

useful for measuring the ages of objects from the recent historical and geologic past, such as



fossils, bones, wood, and other organic materials. Whereas rubidium-87 is incorporated into rocks
during their formation, carbon-14, which is an essential element of the cells of organisms, becomes
incorporated into living tissues as organisms grow. The ratio of carbon-14 to stable carbon isotopes
in the organism is the same as it is in the atmosphere. When a living organism dies, no more carbon
dioxide is absorbed and so no new carbon isotopes are added. The daughter nitrogen-14 isotope,
existing in gaseous form, leaks out of the dead organism, and thus, we cannot use it to compare the
ratio of original to daughter as is done with rubidium-87 and its daughter. However, as the amount
of carbon-14 in the dead organism becomes less over time, we can compare the proportion of this
isotope remaining with the proportion that is in the atmosphere and from this calculate the
approximate number of years since the organism has died. Dating dead organic material by this
method is moderately reliable in samples up to about 50,000 years old, but beyond that the
accuracy becomes unreliable.

*|sotope: one of the different forms of an atomic element

*magma: material that is in liquid form and which cools on the Earth’s surface to form rock

1. The word “alter” in the passage is closest in meaning to

A. adapt The nucleus of a radioactive atom disintegrates spontaneously and
(B:' ?S\?ir;ge forms an atom of a different element while emitting radiation in the
D. vary process. The original atom is called the parent isotope* and its stable

product is called the daughter or progeny isotope. For example,
rubidium-87 decays by emitting an electron from its nucleus to form a
stable daughter called strontium-87. Because the rate of nuclear decay
is constant regardless of temperature and pressure conditions,
radioactive decay provides a dependable way of keeping time.
Radioactive isotopes alter from one type of atom to another at a fixed
rate from the moment they are created anywhere in the universe. Since
we can calculate the decay rate and also count the number of newly
formed progeny atoms and the remaining parent atoms, we can use the
ratio as a kind of clock to measure the age of minerals and other

materials.




2. The rate of nuclear decay in rubidium-87

o0 w»

is always the same
changes over time [Refer to the full passage]
depends on temperature
depends
pressure

temperature and

3. The word “This” in the passage refers to

element
half-life
rate
time

0O w»

The rate at which a radioactive element decays is known as the half-
life of the element. This is the time necessary for one-half of the
original number of radioactive atoms in a sample to decay into a
daughter product. After two half-lives, the number of atoms remaining
after the first half-life will have decayed by half again. Thus, the
number of remaining parent atom is reduced geometrically over time.
With some elements, the half-life is very long. Rubidium-87, for
example, has a half-life that has been estimated at nearly 48.8 billion
years, much longer than the current estimated age of the universe.
With other elements, this period can be as short as a few days or even
minutes. If we know the half-life of a decaying element, it is possible
to calculate the ratio of parent to stable progeny that will remain after

any given period of time.

4. The half-life of an element

size

A. is areliable way of measuring sample

B. is a measure of decay rate in radioactive [Refer to the full passage]
elements

C. is considered an unreliable way of
calculating age

D. is approximately half the age of the
atoms it contains

5. What can be inferred about the reliability of using radioactive atoms to calculate ages of rock

samples?

A. The reliability increases over time.
B. The reliability decreases with older
samples.




C. The reliability of the parent atom is [Refer to the full passage]
greater than the progeny.

D. The reliability of the progeny atom is
greater than the parent.

6. According to the passage, from what point can we measure the ages of rocks?

joined

samples

A. From the point at which rubidium-
87 became part of the rock structure

B. From the point at which strontium-
87 started to decay

C. From the point at which the rocks
rubidium-87 and strontium-87

D. From the point at which later
contamination entered the rock

[Refer to the full passage]

7. The word “essential” in the passage is closest in meaning to

A. redundant
B. stable
C. dependable
D. vital

Another radioactive element useful for dating is carbon -14,
which decays into nitrogen-14. With a half-life of 5,730 years,
carbon-14 decays much more rapidly than rubidium-87 and so is
useful for measuring the ages of objects from the recent historical
and geologic past, such as fossils, bones, wood, and other organic
materials. Whereas rubidium-87 is incorporated into rocks during
their formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues as
organisms grow. The ratio of carbon-14 to stable carbon isotopes
in the organism is the same as it is in the atmosphere. When a
living organism dies, no more carbon dioxide is absorbed and so
no new carbon isotopes are added. The daughter nitrogen-14
isotope, existing in gaseous form, leaks out of the dead organism,
and thus, we cannot use it to compare the ratio of original to
daughter as is done with rubidium-87 and its daughter. However,
as the amount of carbon-14 in the dead organism becomes less

over time, we can compare the proportion of this isotope




remaining with the proportion that is in the atmosphere and from
this calculate the approximate number of years since the organism
has died. Dating dead organic material by this method is
moderately reliable in samples up to about 50,000 years old, but
beyond that the accuracy becomes unreliable.

8. According to paragraph 5, what happens to an organism after it dies?

B.

C.

D.

A. lttends to

deteriorate
rapidly.

The various
carbon isotopes
decay.

The supply of
carbon-14 is no
longer
replenished.
The stable carbon
isotopes
deteriorate.

Paragraph 5 is
marked with an
arrow >

>Another radioactive element useful for dating is carbon -
14, which decays into nitrogen-14. With a half-life of 5,730
years, carbon-14 decays much more rapidly than rubidium-87
and so is useful for measuring the ages of objects from the
recent historical and geologic past, such as fossils, bones,
wood, and other organic materials. Whereas rubidium-87 is
incorporated into rocks during their formation, carbon-14,
which is an essential element of the cells of organisms,
becomes incorporated into living tissues as organisms grow.
The ratio of carbon-14 to stable carbon isotopes in the
organism is the same as it is in the atmosphere. When a living
organism dies, no more carbon dioxide is absorbed and so no
new carbon isotopes are added. The daughter nitrogen-14
isotope, existing in gaseous form, leaks out of the dead
organism, and thus, we cannot use it to compare the ratio of
original to daughter as is done with rubidium-87 and its
daughter. However, as the amount of carbon-14 in the dead
organism becomes less over time, we can compare the
proportion of this isotope remaining with the proportion that is
in the atmosphere and from this calculate the approximate
number of years since the organism has died. Dating dead
organic material by this method is moderately reliable in
samples up to about 50,000 years old, but beyond that the

accuracy becomes unreliable.




9. According to paragraph 5, why can’t scientists compare the ratio of carbon-14 to nitrogen-14?

B.

D.

A. The amount of

nitrogen-14 is not
predictable.

The ratio of these
two elements doesn’t
change.
Nitrogen-14 has an
unpredictable decay
rate.

Carbon-14 tends to
evaporate too
quickly.

>Another radioactive element useful for dating is carbon
-14, which decays into nitrogen-14. With a half-life of 5,730
years, carbon-14 decays much more rapidly than rubidium-
87 and so is useful for measuring the ages of objects from
the recent historical and geologic past, such as fossils,
Whereas
their

bones, wood, and other organic materials.

rubidium-87 is incorporated into rocks during
formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues
as organisms grow. The ratio of carbon-14 to stable carbon
isotopes in the organism is the same as it is in the
atmosphere. When a living organism dies, no more carbon
dioxide is absorbed and so no new carbon isotopes are
added. The daughter nitrogen-14 isotope, existing in gaseous
form, leaks out of the dead organism, and thus, we cannot
use it to compare the ratio of original to daughter as is done
with rubidium-87 and its daughter. However, as the amount
of carbon-14 in the dead organism becomes less over time,
we can compare the proportion of this isotope remaining
with the proportion that is in the atmosphere and from this
calculate the approximate number of years since the
organism has died. Dating dead organic material by this
method is moderately reliable in samples up to about 50,000

years old, but beyond that the accuracy becomes unreliable.




10. According to paragraph 5, the amount of carbon-14 in an organism

B.

C.

D.

A. replaces other carbon

isotopes after an
organism dies

tends to be the same as
the other carbon
isotopes

increases rapidly when
an organism dies
deteriorates from the
moment of death

Paragraph 5 is marked
with an arrow >

>Another radioactive element useful for dating is
carbon -14, which decays into nitrogen-14. With a half-
life of 5,730 years, carbon-14 decays much more rapidly
than rubidium-87 and so is useful for measuring the ages
of objects from the recent historical and geologic past,
such as fossils, bones, wood, and other organic materials.
Whereas rubidium-87 is incorporated into rocks during
their formation, carbon-14, which is an essential element
of the cells of organisms, becomes incorporated into
living tissues as organisms grow. The ratio of carbon-14
to stable carbon isotopes in the organism is the same as it
is in the atmosphere. When a living organism dies, no
more carbon dioxide is absorbed and so no new carbon
isotopes are added. The daughter nitrogen-14 isotope,
existing in gaseous form, leaks out of the dead organism,
and thus, we cannot use it to compare the ratio of original
to daughter as is done with rubidium-87 and its daughter.
However, as the amount of carbon-14 in the dead
organism becomes less over time, we can compare the
proportion of this isotope remaining with the proportion
that is in the atmosphere and from this calculate the
approximate number of years since the organism has
died. Dating dead organic material by this method is
moderately reliable in samples up to about 50,000 years

old, but beyond that the accuracy becomes unreliable.




11.

Look at the four brackets [] that indicate where the following sentence could be added to the

passage.

Both the unstable carbon-
14 and stable carbon
isotopes are taken in from
the carbon dioxide present
in the atmosphere.

Where would the sentence
best fit? Choose the letter of
the square that shows where
the sentence should be
added.

Another radioactive element useful for dating is carbon
-14, which decays into nitrogen-14. [A] With a half-life of
5,730 years, carbon-14 decays much more rapidly than
rubidium-87 and so is useful for measuring the ages of
objects from the recent historical and geologic past, such as
fossils, bones, wood, and other organic materials. Whereas
rubidium-87 is incorporated into rocks during their
formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues
as organisms grow.

[B] The ratio of carbon-14 to stable carbon isotopes in the
organism is the same as it is in the atmosphere. [C] When a
living organism dies, no more carbon dioxide is absorbed
and so no new carbon isotopes are added. [D] The daughter
nitrogen-14 isotope, existing in gaseous form, leaks out of
the dead organism, and thus, we cannot use it to compare
the ratio of original to daughter as is done with rubidium-87
and its daughter. However, as the amount of carbon-14 in
the dead organism becomes less over time, we can compare
the proportion of this isotope remaining with the proportion
that is in the atmosphere and from this calculate the
approximate number of years since the organism has died.
Dating dead organic material by this method is moderately
reliable in samples up to about 50,000 years old, but

beyond that the accuracy becomes unreliable.




12.

Directions: Select the appropriate phrases from the answer choices and match the dating
technique to which they relate. TWO of the answer choices will NOT be used.

This question is worth 4 points.

Write the letters of the answer choices in the spaces where they belong. Refer to the full
passage.

Answer Choices Rubidium-87
Can be used for dating artifacts made of bones
or wood
Destroys progeny isotopes
Essential to living organisms
Has a half-life of billions of years
Incorporated into minerals when they Carbon-14
crystallized
Progeny cannot be used for dating
Unreliable for dating samples
Used for dating dead trees

Used for dating rocks

TOEFL Listening
Questions 1-6
Listen to part of a lecture in a biology class and get ready to answer the questions. You may use
your notes to help you answer.
1. What is the lecture mainly about?
A. How the tide affects the estuarine environment
B. How the adaptations of estuarine organisms developed
C. How the salinity of water is associated with maintaining the right balance
D. How organisms have adapted to differing concentrations of water and salt
2. Listen again to part of the lecture. Then answer the question. What does the professor imply
when he says this:
A. The students probably know the term already.
B. The students should have kept better notes.
C. The term is not relevant to the lecture.
D

. The term is in their class notes.




3. What two adaptations are mentioned that allow crabs to survive in the estuary
environment? Choose 2 answers.
A. Their hard shells keep out water and salt.
B. Their gills and skin adjust to changes rapidly.
C. They can burrow into the soft mud.
D. Their internal organs regulate salt intake.
4. Listen again to part of the lecture. Then answer the question. Why does the professor says
this:
A. To test the students’ understanding of osmoregulators
B. To find out if the students understand how blue crabs breed
C. To show a discrepancy in the behavioral pattern of the crab
D. To give the students an opportunity to ask questions
5. Indicate whether each word or phrase below describes a physiological adaptation or
behavioral adaptation. Check the correct box for each statement.

Physiological Behavioral

migrating

osmoregulating

dropping leaves
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burrowing into mud

6. The adaptations of which estuarine creature are NOT discussed in the lecture?
A. fish
B. birds
C. plants
D. invertebrates
Questions 7-11
Listen to a conversation between a student and a professor. Now get ready to answer the
guestions. You may use your notes to help you answer.
7. Why does the student go to see the professor?
A. To discuss degree requirements

B. To get advice about changing degrees



C. To ask about American Sign Language
D. To inform the professor of changes in his degree program
8. Listen again to part of the conversation. Then answer the question. What can be inferred
about the professor?
A. She does not understand why the student has come to her office.
B. She expects the student to have a background in linguistics.
C. She advises students getting degrees in linguistics.
D. She is not sure why students want to switch majors.
9. Why does the student want to change degree programs?
A. He wants to study languages in Peru.
B. He’s worried about financing his studies.
C. He enjoyed his English teaching experiences.
D. He likes helping people with speech disorders.
10. Listen again to part of the conversation. Then answer the question. Why does the professor
say this?
A. To avoid giving the student false hopes
B. To influence the student’s choice of languages
C. To suggest that the student may have false information
D. To point out to the student the reasons to be cautious
11. What can be inferred about the student?
A. He may not be able to finance a change in degree programs.
B. He does not intend to take a heavier course load to graduate on schedule.
C. He has highlighted all the prerequisites for upper-level courses.
D

. He wants to look at all the options for other language courses.

Questions 12-17
Listen to a discussion in an educational class. Now get ready to answer the questions. You may
use your notes to help you answer.
12. What is the discussion mainly about?
A. The kinds of questions that encourage thought processes
B. The factors that discourage students from asking questions
C. The personality traits of a particular professor in the faculty

D. The way classroom size affects students’ abilities to form questions



13. Why does the professor say this?

A. He is expecting the students to consider an answer to his questions
B. He is preparing the students for the discussion that he wants them to take up

C. He is giving an example of the kinds of questions teachers ask students

D. He is telling the students the kinds of questions students should ask themselves

14. Listen again to part of the discussion. Then answer the question. What can be inferred

about the students?

A. They both question the professor’s classification of the pressure of feeling stupid

B. The woman doesn’t agree with the man that class size is an aspect of appearing

stupid

C. The man is convinced that it is better to ask questions in a small class

D. They have different reasons for considering class size as a negative pressure

15. Why does Lisa mention Professor Clarkson?
E. To make fun of his course
F. To give an example of time pressure
G. To praise his style of answering questions

H. To encourage the others to take his course

16. In the discussion, the professor elicits different reasons why students don’t ask questions.

Indicate whether each of the following is one of the discussed fears.

Check the correct box for each statement

Yes

No

Fear of asking too many questions

Fear of being considered stupid

Fear of being the victim of a joke

Fear of making a mistake
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Fear of wasting a professor’s time

17. Listen again to part of the discussion. Then answer the question. Why does the professor

say this?

A. To change the group discussion assignment to a different topic

B. To challenge the students to reconsider the pressures they have mentioned

C. To inform the students that they have not done a good job of listing the pressures




D. To indicate to the students that they are not limited to the pressures written on the
board
Questions 18-23
Listen to a lecture in a history of ideas class. Now get ready to answer the questions. You may
use your notes to help you answer.
18. What is the lecture mainly about?
A. A theory about criminal personality development
B. A system for evaluating personality theory
C. A method of psychological analysis
D. A comparison of early psychological theories
19. What points does the professor make about Gall’s phrenological theory? Choose 2 answers
A. Abilities were evenly distributed in the brain
B. Each part of the brain was used for a different ability
C. The shape of the skull corresponded to brain shape
D. The shape of the brain was less important than the size
20. Listen again to part of the lecture. Then answer the question. Why does the professor say
this?
A. To express her disagreement with the students’ opinions
B. To agree that many people might think this theory is strange
C. To test the students’ understanding of the concepts
D. To remind the students of a previous unusual idea
21. According to the professor, how did phrenologists approach evidence?
A. They carefully examined evidence that did not fit with their theory
B. They were not interested in seeking confirmation of their claims
C. They only accepted the evidence that seemed to fit their claims
D. They looked for evidence that they knew was false
22. What does the professor imply about phrenology?
A. It was once more highly thought of than today
B. It was mainly a waste of research time
C. It was never more than a minority interest
D

. It was usually on the receiving end of satirical humor



23. According to the professor, which of the following modern beliefs was contributed to by
phrenology?
A. Certain organs within the brain are responsible for certain kinds of behavior
B. The power of the brain is related to the size and shape of the organ
C. The shape of the skull is determined by the shape of the brain
D. Certain abilities are related to specific areas of the brain

Questions 24-29
Listen to a discussion in an astronomy class. Now get ready to answer the questions. You may
use your notes to help you answer.
24. What is the discussion mainly about?
A. The differences between conditions on Mars and conditions on Earth
B. The possibility of radically transforming the conditions on Mars
C. The necessity of human migration in the search for new resources
D. The ethical problems arising from the human settlement of Mars
25. Why does the professor say this?
A. To express doubt about the possibility of terraforming
B. To criticize the science community for wasting resources
C. To indicate that terraforming would be a technologically amazing feat
D. To encourage students to think clearly about the need of terraforming
26. Why does the professor mention the migration of Europeans to the Americas?
A. To emphasize that people like to explore new regions
B. To give an example of the fact that population pressures cause migrations
C. To provide background information on the need to terraform Mars
D. To argue that the settlement of the Americas was a valuable use of resources
27. According to the professor, why is Mars the planet that scientists want to terraform?
Choose 2 answers
A. Itis nearer to Earth than other planets
B. Its atmospheric conditions are rather similar to those on Earth
C. The other planets are unsuitable for several reasons

D. Mars contains water and its surface is solid



28. Listen again to part of the discussion. Then answer the question. Why does the professor

say this?

A
B.
C.
D.

He wants to focus on the technological considerations of terraforming
He thinks the ethical considerations are not relevant to classroom discussion
He thinks the students know his opinion about the right way to use Earth’s resources

He wants the students to make up their own minds about the ethics of terraforming

29. Which of the following is NOT mentioned as a method of terraforming Mars?

A.

Crashing ammonia-rich asteroids onto the planet’s surface

B. Introducing oxygen-releasing plants from Earth
C.
D. Building greenhouse gas producing factories on the Martian surface

Heating the surface with sunlight reflected from orbiting mirrors

Questions 30-34
Listen to part of a conversation between a student and a research coordinator. Now get ready to

answer the questions. You may use your notes to help you answer.

30. Why has the student gone to see the research coordinator?

A.
B.
C.
D.

To investigate food disorders
To find out where he Pharmacology Lab is
To participate in an experiment

To volunteer for making weekly breakfasts

31. Why does the research coordinator ask the student personal questions?

A.
B.
C.
D.

To make sure the student fits all the requirements
To test if the student has read the announcement correctly
To see if the student understands the experiment

To help the student decide whether she wants to participate

32. Listen again to part of the conversation. Then answer the question. Why does the student

say this?

A.
B.
C.
D.

Because she gets ill frequently
Because she can only know about her current health
Because she intends to stay well for the week

Because her bout with flu is over

33. Which of the following topics does the research coordinator NOT ask the student about?

A.

Her susceptibility to allergies



B. Her use of medications
C. Her preferences for snacks
D. Her current health situation
34. What example does the research coordinator give of the breakfast that will be provided?
A. Pickled onions or grasshoppers
B. Candy bars or potato chips
C. Yogurt or nuts
D. Eggs or cereal

TOEFL Speaking

1. Please listen carefully.

A good teacher should have some special qualities. What qualities do you think are necessary for a
good teacher to have and why? Include details and examples in your explanation.

Preparation time: 15 seconds

Response time: 45 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.

2. Please listen carefully.
Some people believe that people who play video games are learning important life skills.
Others believe that video game players are wasting their time. Which view do you agree with
and why? Include details and examples in your explanation.

Preparation time: 15 seconds

Response time: 45 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.

3. Please listen carefully.
The University of the Rockies newspaper has published a letter to the editor concerning a
university policy. Read the letter about the hiring of temporary instructors. You will have 45

seconds to read the letter. Begin reading now.

PAUSE (for 45 seconds)



Reading time: 45 seconds

Letter to the Editor

Most students are unaware of the employment conditions of our
instructors. In fact, an ever increasing percentage of our teachers have
adjunct contracts. This means that they are only hired for a semester at a
time, are underpaid, and receive no benefits. Although universities
make great savings by following a policy of using temporary
instructors, students do not benefit from these savings in the form of
lower tuition fees. Considering how our university is exploiting
teachers, we as students should be asking in what ways our education is

suffering from this situation.

Now listen to two students as they the issue brought up in the letter. Now get ready to answer the
question.

The man expresses his opinion on the issue of temporary instructors. State his opinion and explain
the reasons he gives for that opinion.

Preparation time: 30 seconds

Response time: 60 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.
4. Please listen carefully.
Read the passage about imprinting in baby birds. You have 45 seconds to read the passage.

Begin reading now.

PAUSE (for 45 seconds)



Reading time: 45 seconds
Imprinting

Animal psychologists have long known that young geese and ducks
instinctively follow their mother, but only if they have the opportunity
to do so at an early point in their lives. If these goslings or ducklings are
separated from their mothers during this sensitive period, they will not
develop an attachment to her.

Konrad Lorenz, the scientist who developed our knowledge of this
phenomenon, used the term imprinting to identify the process in which
this bond is formed. Lorenz noted that imprinting appears immediately
after hatching and that the period during which it can develop lasts for
at most a couple of days. Moreover, Lorenz argued that imprinting was
irreversible and that a hatchling will imprint on its mother, or,
remarkably, on any suitable moving object if the mother is not
available.

Now listen to part of a lecture on this topic in an ecology class and get ready t answer the
questions.

The professor explains the notion of imprinting in young geese and ducks. Explain how this
behavior develops and how it might be important for the birds’ survival.

Preparation time: 30 seconds

Response time: 60 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.



TOEFL Speaking

INTEGRATED TASK
Directions: You have three minutes to read and take notes from the reading passage. Next, listen to

the related lecture and take notes. Then write your response.

Dowsing

Dowsing is the millennia-old practice of finding hidden things. The most
well-known activity of dowsing involves the use of a device such as a forked
stick to locate underground water. To this end, the dowser walks slowly back
and forth over an area of ground holding the dowsing tool out in front with
both hands. It is said that the dowser, by concentrating carefully, is somehow
able to feel the energy of the flowing underground streams vibrating through
the rod at certain frequencies, and thus is able to tell precisely where to dig or
drill to find water. Sometimes the dowsing tool will twist and jerk or suddenly
point downward. Some dowsers hold two L-shaped rods, one in each hand. In
this case, when he or she walks over an area of underlying water, the rods
cross over indicating the place where digging should commence.

In recent years dowsing has gained in popularity not only as a method for
finding underground water but also for trying to uncover other objects
including buried treasure, oil, or even dead bodies. A recent application has
been the search for what some consider harmful energy fields in an attempt to
avoid them. Even large businesses and official organizations pay dowsers for
their detection skills. Although no one is completely sure how dowsing works,
the testimonials of satisfied customers bear witness to the success of this

ancient art.




Now listen to a professor’s response to the reading passage.

Directions: You have 20 minutes to plan and write your response. Your response will be judged
based on the quality of your writing and on how well your response presents the points in the lecture
and their relationship to the reading passage. Typically, an effective response will be 150 to 225
words.

Question: Summarize the points made in the lecture you just heard, explaining how they cast doubt
on the points made in the reading.

(Reading passage reappears during writing time. Refer to the full passage on the previous page.)

Writing Based on Knowledge and Experience

Directions: For this task, you will write an essay in response to a question that asks you to state,
explain, and support your opinion on an issue. You will have 30 minutes to plan, write, and revise your
essay.

Typically, an effective essay will contain a minimum of 300 words. Your essay will be judged on
the quality of your writing. This includes the development of your ideas, the organization of your
essay, and the quality and accuracy of the language you use to express your ideas.

On the day of the test, you will be required to type your response into a computer. Therefore, if you

are taking this test in the book, practice typing your response on a computer.

INDEPENDENT WRITING TASK

Directions: Read the question below. You have 30 minutes to plan, write, and revise your essay.
Typically, an effective response contains a minimum of 300 words.

Question: Do you agree or disagree with the following statement?

There is nothing that an uneducated person can teach an educated person.

Use specific reasons and examples to support your opinion.



4. OpraHM3anMOHHO-TIeJarOTHYeCKHe YCI0BHS peaju3alui NPOrpaMMbl
4.1. MaTepuaJIbHO — TeXHHYeCKoe o0ecrieyeHue

B xonme peanmzamuu mporpamMMbl HCIOJIB3YIOTCS Y4eOHBIE ayJUTOPHUU, KOTOPbIE OCHAIEHBI
MYJIBTUMEIUNHBIM KOMIUIEKCOM (HOYTOYK, IPOEKTOP, 3KpaH), MarHUTO(OH.
Kaxnpiii oOydatonuiicss odecriedeH J0CTymoM K OHOIHOTeIHBIM (hOHIaM.

4.2. KagpoBoe obecnieyenue

K peammzamum mporpamMmbl  TPUBJIEKAIOTCS  BBICOKOKBATM(UIIMPOBAHHBIC — CIEIIHATINCTHI,
MMEIOIIUE OMBIT pabOThl MO JOTOJIHUTENBHBIM O0II€00pa3oBaTeIbHbIM IPOTpaMMaM B COOTBETCTBUU
c Tapu(pHO-KBAIN(PUKAIIMOHHBIMU XapaKTepPUCTHKAMU o JOJDKHOCTSIM paboOTHUKOB
00pa30BaTENILHOTO YUPEKICHUS.

4.3. Meroauyeckoe U TUIAKTHYECKOe of0ecreyeHue
00pa30BaTeIbLHOIO MpPoIecca

Oo0pa3oBaTte/ibHbIE TEXHOJOIMHU. B COOTBETCTBUU ¢ LEISAMH U 3aa4aMy MPOTPAMMBI MPOLIECC
OoOydYeHUsI aHTJIMKACKOMY SI3BIKY IPEAIoJIaraeT COYeTaHWe ayJAUTOPHOH M BHEAYJAHTOPHOU pPabOTHI
00yJaromerocs, 4ro CIOCOOCTBYET Pa3BUTHIO TBOPYECKOW aKTUBHOCTH, KaK IMPH OBJAJCHUH, TaK U
MPAKTUIECKOM HCIOJIb30BAHUH TIOJTYICHHBIX 3HAHUH B MPOIIECCe KOMMYHHKAIIHH.

[Ipomiecc 00y4yeHUsT aHTIIMICKOMY SI3BIKY TIPEANOJaraeT CoOYeTaHHe OOBSICHUTEIHHO-
WJUTFOCTPATHBHBIX METOJIOB (BU3YalIbHBIX M CIYXOBBIX) U METOJ0OB MPOOJIEMHOTO 00y4deHus (poJieBbie
UTpPBI,  CO3JaHME  MPOOJIEMHBIX  CHUTyalluid,  MpENnoJiaralolliMX  pelleHHe  KOHKPETHBIX
KOMMYHHMKATHBHBIX 3aJia4, MOATOTOBKA, HAMKMCAHUE U IPE3EHTalUs COOOLIECHUM, TOKIaI0B U T.IL.).
Taxkum 00pa3om, B X01¢ OOYICHHS] KOMMYHUKAMUBHBLU NOOX0O CTAHOBHUTCS YaCThIO 0esimenbHOCHHO20
nooxooa.

Jlst o6ecnieuennst YHPEKTUBHOCTH yIEOHOTO TMpoIiecca, MOMUMO TEIaroTHYeCKUX MPUHIIUIIOB
oOyueHusi, IIUPOKO HCIONB3YETCA MexHoI02usi O00yYeHUs B63pPOCablX WHOCTPAHHOMY  SI3BIKY,
BKIIIOUAIOIAS aHOpazocuyecKue npuHyunsl 00y4eHHs: IPUOPUTET CaMOCTOATEIHHOIO U OCO3HAHHOTO
oOyueHusi, OMopa Ha OMNBIT (A3bIKOBOM, MpPEIMETHBIN, JeN0BOi) 0Oy4aromerocsi, COBMECTHAas
NeSTeNbHOCTh ydaluxcs (peaiu3anusi 3aJadyHOro IOAXO0Ja) W HMHAMBHUAyalU3alus OOy4eHHs,
aKTyallu3alus pe3ylbTaToB 00Y4YeHHUS, CUCTEMHOCTh OOy4YeHHsI, KOHTEKCTHOCTh 0OydeHUs, pa3BUTHE
00pa3zoBaTeNIbHBIX MOTPEOHOCTEH 00yIaeMoTO.

g 3bheKkTUBHONM caMOCTOSATENBHON pabOThl 00YYAIOIIET0OCs HCIOIb3YIOTCSI HHTEPAKTUBHbIE
MIPOrPaMMBbI, KOTOPBIE TO3BOJISIOT COYETATh PA3JIMYHbIE MMOAX0/IbI K OpraHu3auu 0OyueHus B IpyIime
yuamuxcs. Vcrnoap3oBaHHEe HOBBIX TEXHOJIOTHH B codyeTaHuu ¢ TpaguiuoHHbiMu TCO moBblaer
MOTHBAIMIO O0YYAIOIINXCS, aKTUBU3UPYET UX MOTEHIIMATbHBIE HHTEIIEKTYalbHbIE BO3MOKHOCTH.

MeToauyeckne peKOMEHIANMH TpenoaaBaTeaio. JIMHIBUCTUYECKMA AaclEeKT BKJIHOYACT
MpernojaBaHue TPaMMaTHYEeCKOTO U JIEKCHYECKOTO MHHHMYMa, OOYCJIOBJIEHHOTO TEMaTHUYECKUM
IIJIJAHOM JaHHOU mporpammel. [IpenogaBannue rpaMMaTHKy OCYHIECTBISAETCS KOMIUIEKCHO C JIEKCUKOW B
KOMMYHHKAaTHBHOM acTeKTe U BEAETCS OT cMbIcia K ¢opme. ba3oBbie 3HaHMS B 001acTH TpaMMAaTHKH
3aKJIaJIIBAOTCS TYTEM H3Yy4eHUsT MOPQOJOTHH, CHHTAKCHUCA U CIOBOOOPA30BAaHMS Yepe3 MOJECIU U
TekcT. bomplioe BHUMaHHME YAENSETCS TpaMMaTHYECKMM U JIEKCHUECKUM TpaHCcPOopMaIusM Kak
crioco6aM BBIPaKEHUS ONPEAETICHHOTO KOMMYHHKATUBHOTO 3aaHHUS.

[TocTossHHO TmpoBOAMTCS paboTa MO 3aKPEIJICHUI0 M aKTUBHM3AIMH Mojened u  ¢opwm,
TpeOYIOMMX 3ayYnBaHHUS.




CucremaTH4ecKkoe M3y4E€HHE JIEKCUKU IOJYMHEHO OCHOBHOM 3a7aye — pa3BUTHIO HABBIKOB
YCTHOW U MIMCBbMEHHOM peYy U IEPEeBOIA.

OT10op JNeKcHYecKoro MaTepuaia MPOBOJAUTCS Ha OCHOBE YU€OHBIX TEKCTOB M KOHKPETHBIX TEM,
M3y4aeMbIX B paMKaxX YKa3aHHBIX BBIIIE KOMMYHUKATUBHBEIX cep. B ocHOBe 0OyueHUS aHTIUHCKOMY
A3BIKY KaK MHOCTPAHHOMY JIeKaT paboure ydeOHbIe MJIaHbl, B KOTOPBIX ONPENENIAIOTCS IPAKTUYECKHUE
3a/lauM, YKa3bIBalOTCA yueOHbIE TE€Mbl M 0O0LIME BUIbI PabOTHI, ONPEAETSIOTCS (POPMBI KOHTPOJIS
(MTOrOBOTO M MPOMEKYTOYHOI0), 00BEM YACOB U KaJ€HIAPHbIE CPOKH.

JIMHrBOCTpaHOBEAUECKUN acleKT NIPUCYTCTBYET Ha Bcex JTamax oOyueHus. B mponecce
OBJIAZICHUS SI3BIKOM OOYYAIOMIMICS YCBaWBaIOT HEOOXOAWMBI MUHUMYM (DOHOBBIX 3HAHWH O CTpaHe
M3ydaeMoro s3pika (reorpadus; OCHOBHBIE BEXW HCTOPUH; OOIIECTBEHHBIH CTPOH; LEHTpAIbHBIC
OpraHbl BJIACTH; TOJUTUYCCKHE T[APTHH; BHYTPCHHSS W BHEMIHSAA TIOJUTHKA; BaKHCHUIIUE
0OI1IeCTBEHHBIC OPTraHM3aIMU; MPA3IHUKH, OObIYal W TPATUIUHU; BUJIHBIE UCTOPUUYECKHUE JIMYHOCTH,
BBIJAIOIIMECS MPEICTAaBUTENN HAYKH M KYJIbTYphI). DTO JOCTUTAETCs MyTEM H3y4eHHUS MaTepuasoB
Ipecchbl, MyOIUIIUCTUYECKUX U XYAO0XKECTBEHHBIX TEKCTOB, KMHO(PHUIBMOB, pajuo- M Tejenepenaad,
MIPOM3BEACHUNA MCKYCCTBA CTPaHbl H3y4aeMOro $3bIKa, C TIOMOIIBIO JIMHIBOCTPAHOBEIYECKUX
KOMMEHTapHUeB K TeKCTaM y4eOHBIX MOCOOMH, KHUraM MO JOMallHEMY YTEHUIO, @ TaKXKe TOJIKOBAHMS
0€33KBUBAJICHTHOM JIEKCUKHU.

KommyHukaTuBHbIe chepbl 00ydeHUs

[Tox koMMyHUKAaTUBHOU cepolt 00ydeHHs] TOHUMAETCSI UCKYCCTBEHHO CO3JIaHHAs CUTYyallus
OOIIeHUS, UIMUTUPYIOIIAsT COOTBETCTBYIONIYIO KOMMYHHKATHBHYIO Cepy B YCIOBUSX HHOS3BITHOTO
OKPY)KEHHS WM CO3JAollasi MPEANOChUIKM MEXJIMYHOCTHOTO OOIIEHHS] B YCJIOBHSX ayIUTOPHBIX
3HaHUM.

OCHOBHBIMH KOMMYHUKAaTUBHBIMU cdepaMu B mporecce OOydeHUS HWHOCTPAHHOMY S3BIKY
SBSIIOTCA: 1) ydeOHO-mpodeccHoHanbHas, 2)  COIHMAIBbHO-KYIbTypHas, 3) OOIIECTBEHHO-
nojuTHYeckas, 4) mpodeccuoHalbHas.

OO6yuenue B y4eOHO-podeccHoHANbHOU cdepe MpeiaraeT MpeabsIBiIeHHE O0ydJaromeMycs
SI3BIKOBOTO MaTepuayia (Ie4aTHOTO, 3BYYAllleT0), CBSI3AHHOTO C TOBCEAHEBHOM >KHU3HBIO, Y4eOOW W
npodeccueil 00ydJaroIerocs, a TaKke Mmarepuaia o0Ieo0pa3oBaTeILHOTO, MOJUTOJIOTHYECKOTO H
CTPaHOBEIUECKOI0 XapakTepa O cTpaHax Hu3ydaemoro s3pika. OOydeHHe B 3TOi cdepe BKIHOHAET
YTeHHE U ayJUpOBAaHUE MPEIbSIBISEMOrO SI3BIKOBOIO MaTepHalia, BBICTYIJICHHE C COOOUICHHEM U
BeleHue Oeceapl Ha 0O0IMIE00pa3oBaTEIbHYIO, CTPAHOBEIYECKYIO U IOJIUTOJIOTUYECKYIO TEMY,
HamucaHWe  U3JIO)KEHUH, COUYMHEHHH, pe3loMe I0  MarepuaiaM  001eoOpa3oBaTesIbHOM,
CTpaHOBEIUYECKOM 1 ObITOBOI TEMAaTHUKH, OTBETHI HA KOHTPOJBbHOMN paboTe.

OO6ydeHue B couuanbHO-KYJIBTYpHOU cdepe mpennosiaraeT MpenbsBieHHe O00ydaronemycs
XYIOKECTBEHHBIX U IYyOJUIIUCTHUECKUX MPOU3BEACHUN, Ta3eTHbIX M JKypHAIbHBIX CTaTed IO
COLIMANIBHBIM TIpoOJieMaM M MO BOIpPOCaM KyJIbTYpHOM JKM3HHM B pPOJHON CTpaHe U B CTpaHe
M3Y4aeMOro $3bIKa, XYI0KECTBEHHBIX U JOKYMEHTAJIbHBIX KUHO(DHUIBMOB, paJHO- M Tejernepeaay.
OOydenue B ATOU cdepe BKIOYACT YTCHHE MYOIMIIMCTUYECKUX MPOU3BEACHHM, Ta3eT U JKYpHAJOB,
MpOCTYIIMBAaHUE paguornepeaady u GoHo3anucel, MpocMOTp KHHOPUIBEMOB U Telenepeaay, oOeHne u
BBICTYIUICHUS C JOKIAJaMH, Y4acTHE B JUCKYCCHU Ha COIHUAIBHO-KYJIbTYpHBIE TEMBbI, HAIMCaHHE
pedepaToB, COUMHEHU U aHHOTAITUH.

OOyuenne B OOIIECTBEHHO-NOJUTUYECKOW  cdepe  mpeamosnaraer  NpeabsBICHUE
oOyuaroniemMycss MaTepHanoB OOIIECTBEHHO-TIOMUTUYECKON TEMATHUKU: Ta3eTHBIX U KYPHaJIbHBIX
cTaTtei, KHUT 1 MOHOTrpaduii (M / WM U3BIEYEHUN W3 HUX) MO BOMPOCAM BHENIHEH W BHYTpEHHEH
MOJIMTUKA POJTHOM CTpaHbl M CTPaHBbl M3Yy4aeMOTO S3bIKA, BBICTYIUICHHM BHJIHBIX OOILIECCTBEHHBIX W
rOCyJapCTBEHHBIX JesTesel, MarepuanoB padoT oOydarommxcs. OOyueHne B 3Toi cdepe BKIOYAET
YTeHHe W/ WIA TPOCIYIIMBAHUE TEPEYUCICHHBIX MaTepuanoB, OOIIeHHEe Ha OOIIEeCTBEHHO-
MOJIMTUYECKHE TEeMbl, B TOM 4YHCIIE BBICTYIUICHHE C COOOIIEHHMEM, y4acTHE€ B IHCKYCCHUHU, B




KoH(epeHIH, nepeBo (YCTHBIM M NMUCHbMEHHBIN), pedepupoBaHHEe W aHHOTUPOBAHHE MaTEpUAIIOB
00I11eCTBEHHO-TIOJIUTUYECKOI TEMaTHKH.

O6ydenne B mnpodecCHOHANBHOW cdepe NpeanosiaracT MNPEIbsIBICHHE O0yJaroneMycs
CIEUUANBHBIX MaTepHANIOB, OTPAXKAIOIUX CIEUUPHUKY MPO(EeCCHOHANBHON pabOThI: Ta3eTHBIX M
KYPHAJIBHBIX CTaTel y3KOU CllelaTu3alii, Hay9HOH JINTepaTyphl Ha u3ydyaeMoM s3bike. OO0ydeHue B
npodeccnoHambHOW cepe BKIIOYAET YTCHHWE W MPOCIYIIMBAHHE CIEHUAIBHBIX MAaTEpUaoB,
BBITIOJTHEHHE NTepeBoa (B TOM uucie peepaTUBHOTO) MPEIbIBICHHOTO MaTepuana, pedepupoBaHue u
AHHOTHPOBAHKE CIICIUAIBHBIX MAaTEPUAIIOB, BEJICHUE 3aITUCH ITPH BHIIOJHEHUH MIEPEBO/IA.

Meroanyeckune ykazanus oOyyaommMmcsi. g YCHEIIHOIO OCBOEHHS  IIPOrPaMMBbI
MpeAyCMOTpEHA CHUCTeMaTH4ecKasi (peryisipHasi) padoTa IO BBINOJHEHHIO JOMAIIHUX 3aJaHUi —
MPOCIYIIMBAHUE AyAUO03aMUCeH TEKCTOB M JHAJIIOTOB, OTPA0OTKA HABBIKOB MPABUIBHOTO UTEHUS M
pasroBopa B may3aibHOU ¢GopMe (AMATOTOB) BCEA 32 TUKTOPOM; BBIMOJTHEHHUEM BCEX MHUCHMEHHBIX
3aJJaHIM, COTJIaCOBAaHUN TEKCTOB.

4.4, YueboHO-MeTOAMYECKOE M HH(OPMALIMOHHOE
olecreyeHne NPOrpaMmbl

Barron’s, TOEFL IBT;

Check Your English Vocabulary for TOEFL, 4™ edition;

Cambridge Preparation for the TOEFL Test, 4™ edition;

English Vocabulary in Use, Upper-intermediate, Cambridge University Press;
Advanced Grammar in Use, Cambridge University Press;

Magazines, newspapers

Photocopiable materials



